11. REVENUE GENERATION

- A. Project the funds anticipated to be generated by the project. This projection should include any source of funds which could have any reasonable connection to the proposed development.
 - 1. Make the following projection by year, including the first and last year in which any construction and/or development takes place:
 - (a) Yearly ad valorem tax receipts
 - (b) Yearly impact fees collected
 - (c) Yearly sales tax received by local government
 - (d) Yearly gasoline tax received by local government
 - (e) Yearly projections of any funds by any other sources generated as a result of development of the propose project in the region
 - 2. List all assumptions used to derive the above projections and estimates, show the methodologies used and describe the generally accepted accounting principals used in all assumptions, estimates and projections.

Table 11.1 estimates, to the extent possible based on information currently known, the non-recurring and recurring revenues that the Parkland DRI will generate for Miami-Dade County. **Table 11.2** estimates, to the extent possible based on information currently known, the non-recurring and recurring revenues that the Parkland DRI will generate for other local governmental entities, including the following:

- Miami-Dade County Public Schools
- South Florida Water Management District
- Environmental Project

The revenue estimates presented in **Tables 11.1** and **11.2** are in 2006 Constant Dollars.

TABLE 11.1 REVENUE GENERATION Miami-Dade County

(Millions of 2006 Dollars)

										Total Non-
	2008	2009	2010	2011	2012	2013	2014	2015	20016	Recurring
Miami-Dade County										
Non-Recurrring										
Impact Fees										
Road	0.0	680.4	1,198.5	1,489.2	1,332.1	1,281.4	1,349.2	1,187.1	0.0	8,517.9
Police	0.0	168.9	268.8	339.9	331.0	322.0	353.4	322.0	0.0	2,106.0
Fire	0.0	135.7	232.6	261.2	249.3	234.7	262.2	200.9	0.0	1,576.6
Parks	0.0	553.5	904.8	1,147.5	1147.5	1,147.5	984.5	984.5	0.0	6,869.8
Building Permit Fees	*	*	*	*	*	*	*	*	*	
Sewer Connection Fees	*	*	*	*	*	*	*	*	*	
Total Non-Recurring	0.0	1,538.5	2,604.7	3,237.8	3,059.9	2,985.6	2,949.3	2,694.5	0.0	19,070.3
Recurring										
Ad valorem**										
General Fund	0.0	0.0	762.2	1,876.7	3,344.9	5,104.9	6,514.8	7,796.3	9,296.6	
Debt Service	0.0	0.0	37.3	92.0	163.9	250.1	319.2	382.0	455.5	
UMSA	0.0	0.0	319.6	787.0	1,402.7	2,140.8	2,732.1	3,269.5	3,898.7	
Water & Sewer	*	*	*	*	*	*	*	*	*	
Occupational Licenses	*	*	*	*	*	*	*	*	*	
Sales Tax	*	*	*	*	*	*	*	*	*	
Gasoline Tax	*	*	*	*	*	*	*	*	*	
Fire District										
Ad valorem**										
Operating	0.0	0.0	340.4	838.2	1,493.9	2,279.9	2,909.6	3,481.9	4,152.0	
Debt Service	0.0	0.0	6.8	16.7	29.8	45.5	58.1	69.5	82.8	
Library District										
Ad valorem***	0.0	0.0	63.5	156.3	278.6	425.2	542.6	649.4	774.3	
Children's Trust	0.0	0.0	56.0	137.9	245.8	375.1	478.8	572.9	683.2	
Ad valorem**										
0										

^{*} Can not be estimated at this time based on the information available

Source: Miami Economic Associates, Inc.

^{**} Figure only includes taxes paid on real property. Insufficient data available to estimate taxes on commercial personal property.

TABLE 11.2 REVENUE GENERATION OTHER LOCAL GOVERNMENTS

(Millions of 2006 Dollars)

	2008	2009	2010	2011	2012	2013	2014	2015	2016	Total Non- Recurring
Miami-Dade Public Schools	2000	2003	2010	2011	2012	2013	2014	2013	2010	recourring
Non-Recurrring										
Impact Fees	0.0	1,092.5	1,836.0	2,334.8	2,334.8	2,334.8	2,010.4	2,010.4	0.0	13,953.7
Recurring										
Ad valorem**										
Operating	0.0	0.0	1038.1	2,556.0	4,555.6	6,952.6	8,872.9	10,618.2	12,661.5	
Debt Service	0.0	0.0	64.1	157.9	281.5	429.6	548.2	656.0	782.3	
SFWMD										
Ad valorem**	0.0	0.0	78.0	192.0	342.2	522.3	666.6	797.7	951.2	
Environmental Project										
Ad valorem**	0.0	0.0	13.1	32.2	57.3	87.5	111.7	133.6	159.3	

^{*} Can not be estimated at this time based on the information available

Source: Miami Economic Associates, Inc.

^{**} Figure only includes taxes paid on real property. Insufficient data available to estimate taxes on commercial personal property.

Bases of Revenue Estimates

The materials that follow provide the bases used in formulating the revenue estimates provided in **Tables 11.1** and **11.2**.

Project Description

When completed, Parkland will be comprised of a mixture of residential and commercial uses. **Table 11.3** shows the amounts of development proposed and anticipated schedule of completion by use.

	TABLE 11-3 SCHEDULE OF DEVELOPMENT									
Year	Single- Family Detached (D.U.)	Single- Family Attached (D.U.)	Condo- minium (D.U.)	Rental Apt. (D.U.)	Retail (S.F)	Medical Office (S.F.)	Hospital (Beds)	Indus trial/ Flex (S.F)		
2008	0	0	O O		Ó	Ó	0	0		
2009	57	261	148	100	75,000	0	0	50,000		
2010	200	300	300	100	0	0	100	50,000		
2011	200	375	400	200	50,000	50,000	0	100,000		
2012	200	375	400	200	50,000	0	0	100,000		
2013	200	375	400	200	0	0	0	100,000		
2014	200	375	400	0	25,000	0	100	100,000		
2015	200	375	400	0	0	50,000	0	50,000		
Total	1,257	2,436	2,448	800	200,000	100,000	200	550,000		

For the purpose of this analysis, it is assumed that construction of all uses with the exception of the hospital will take 12 months or less, with the requisite impact and permit fees paid in the year of construction. Each phase of the hospital will require 2 years to construct with the requisite impact and permit fees paid in the year construction commences. Development completed in a particular year will be placed on the tax rolls the following year.

Taxable Values

For the purpose of this analysis, the following taxable values are assumed for each use proposed for development at the Parkland DRI:

Single-family detached: \$325,000Single-family attached: \$215,000

Multi-family: \$135,000Rental apartment: \$135,000Retail: \$200/square foot

• Medical office: \$200/square foot

Hospital: \$150,000/bed

Industrial/Flex: \$150/square foot

The estimated taxable value of the for-sale residential units assumes they are placed on the tax rolls at 80 percent of their sales price and that all of them qualify for the homestead exemption. The estimated taxable value of the rental apartments assumes 80 percent of their estimated market value. These units will not qualify for the

Homestead Exemption. The estimated taxable values of the non-residential uses are based on a review of comparable properties.

Based on the preceding the incremental taxable value by year will as follows:

	TABLE 11-4 INCREMENTAL TAXABLE VALUE BY YEAR							
(2006 Constant Dollars)								
Year	Use	Taxable Value	Quantity	Total				
2010	SF Detached	\$325,000/Unit	57 Units	\$18,525,000				
	SF Attached	\$215,000/Unit	261 Units	\$56,115,000				
	MF	\$135,000/Unit	148 Units	\$19,980,000				
	Rental	\$135,000/Unit	100 Units	\$13,500,000				
	Retail	\$200/S.F.	75,000 S.F.	\$15,000,000				
	Industrial/Flex	\$150/S.F.	50,000 S.F.	\$ 7,500,000				
	Total			\$130,620,000				
2011	SF Detached	\$325,000/Unit	200 Units	\$65,000,000				
	SF Attached	\$215,000/Unit	300 Units	\$64,500,000				
	MF	\$135,000/Unit	300 Units	\$40,500,000				
	Rental	\$135,000/Unit	100 Units	\$13,500,000				
	Industrial/Flex	\$150/S.F.	50,000 S.F.	\$ 7,500,000				
	Total			\$191,000,000				
2012	SF Detached	\$325,000/Unit	200 Units	\$65,000,000				
	SF Attached	\$215,000/Unit	375 Units	\$80,625,000				
	MF	\$135,000/Unit	400 Units	\$54,000,000				
	Rental	\$135,000/Unit	200 Units	\$27,000,000				
	Retail	\$200/S.F.	50,000 S.F.	\$10,000,000				
	Industrial/Flex	\$150/S.F	100,000 S.F.	\$15,000,000				
	Total			\$251,625,000				
2013	SF Detached	\$325,000/Unit	200 Units	\$65,000,000				
	SF Attached	\$215,000/Unit	375 Units	\$80,625,000				
	MF	\$135,000/Unit	400 Units	\$54,000,000				
	Rental	\$135,000/Unit	200 Units	\$27,000,000				
	Retail	\$200/S.F.	50,000 S.F.	\$10,000,000				
	Medical Office	\$200/S.F.	50,000 S.F.	\$10,000,000				
	Hospital	\$200,000/Bed	200 Beds	\$40,000,000				
	Industrial/Flex	\$150/S.F.	100,000 S.F.	\$15,000,000				
	Total			\$301,625,000				
2014	SF Detached	\$325,000/Unit	200 Units	\$65,000,000				
	SF Attached	\$215,000/Unit	375 Units	\$80,625,000				
	MF	\$135,000/Unit	400 Units	\$54,000,000				
	Rental	\$135,000/Unit	200 Units	\$27,000,000				
	Industrial/Flex	\$150/S.F.	100,000 S.F.	\$15,000,000				
	Total			\$241,625,000				
2015	SF Detached	\$325,000/Unit	200 Units	\$65,000,000				
	SF Attached	\$215,000/Unit	375 Units	\$80,625,000				
	MF	\$135,000/Unit	400 Units	\$54,000,000				
	Retail	\$200/S.F.	25,000 S.F	\$ 5,000,000				
	Industrial/Flex	\$150/S.F.	100,000 S.F.	\$15,000,000				
	Total			\$219,625,000				
2016	SF Detached	\$325,000/Unit	200 Units	\$65,000,000				
	SF Attached	\$215,000/Unit	375 Units	\$80,625,000				
	MF	\$135,000/Unit	40 Units	\$54,000,000				
	Medical Office	\$200/S.F.	50,000 S.F.	\$10,000,000				
	Hospital	\$200,000/Bed	200 Beds	\$40,000,000				
	Industrial/Flex	\$150/S.F	50,000 S.F.	\$ 7,500,000				
	Total	,	,	\$257,125,000				

Non-recurring Revenues

During the period of project development, a variety of fees will be paid on a one-time basis. The bases for calculating these non-recurring revenues are discussed below.

Platting

Miami-Dade County will collect fees when the property on which the Parkland DRI is developed is platted. However, the amount of those fees can not be estimated at this time because it is unknown how the property will be platted in terms of number and size of parcels.

Impact Fees

Impact fees for roads, police and fire are paid to Miami-Dade County for all new development in unincorporated Miami-Dade County. Park impact fees are paid to the County for all new residential units. Impact fees for schools are also required to be paid on all new residential units with the recipient being the Miami-Dade County Public School District. The impact fee amounts shown in **Table 11.1** and **Table 11.2** reflect the current published rates schedule as of February 23, 2006 for roads, police, fire and parks (See Table 11-5 below) based on the quantities of development by use contemplated each year. The analysis further assumes that 100 hospital beds equate to 150,000 square feet of building area.

Use	Roads	Police	Fire	Parks
Single Family Detached	\$1,307/Unit	\$258.74/Unit	\$176.73/Unit	\$1,300.32/Unit
Single Family Attached	\$921/Unit	\$258.74/Unit	\$187.39/Unit	\$1,062.18/Unit
Condominium	\$921/Unit	\$258.74/Unit	\$187.39/Unit	\$815.22/Unit
Rental Apartments	\$983/Unit	\$258.74/Unit	\$187.39/Unit	\$815.22/Unit
Retail 10,000 – 49,999 S.F.	\$1.317/S.F	\$0.1796/S.F	\$0.2912/S.F.	N/A
Retail 50,000 - 99,999	\$1.015/S.F.	\$0.1796/S.F	\$0.2912/S.F.	N/A
Industrial/Flex	\$1.096/S.F.	\$0.1796/S.F	\$0.1664/S.F.	N/A
Medical Office	\$3.142/S.F.	\$0.1796/S.F	\$0.2392/S.F.	N/A
Hospital	\$1.543/S.F.	\$0.1796/S.F	\$0.3848/S.F.	N/A

For the purpose of calculating school impact fees, it is assumed that the average single-family detached unit will be 2,100 square feet while the average single-family attached and condominium and rental units will be 1,600, 1,300 and 1,100 square feet, respectively. The rate per unit, regardless of type is \$612 plus \$0.918 per square foot. However, the ordinance and formula are under review, and it is anticipated that changes will be adopted in the next 6 to 8 months that may significantly increase the fee.

Permit Fees

Miami-Dade County charges building permit fees on new construction within Unincorporated Miami-Dade County. Architectural and engineering plans for the structures that will comprise the Parkland DRI have not been sufficiently formulated at this time to calculate the amounts that will be paid in building permit fees at this time.

Water and Sewer Connection Fees

Miami-Dade County will collect connection fees for water and sewer services. The amounts that will be collected can not be estimated at this time because they will depend on engineering parameters regarding the number and size of meters that have not presently been defined.

Recurring Revenues

Miami-Dade County and other of the local governmental entities listed above will receive recurring revenues annually as a result of the development of the Parkland DRI. The bases for the recurring revenues projected in **Tables 11.1** and **11.2** are discussed below.

Ad Valorem Taxes

Ad valorem taxes will be paid to a variety of governmental entities on the development proposed within the Parkland DRI at the rates shown below:

- Miami-Dade County: \$5.835/\$1,000 of taxable value
- Miami County Debt Service: \$0.285/\$1000 of taxable value
- Miami-Dade County UMSA: \$2.447/\$1,000 of taxable value
- Miami-Dade County Fire: \$2.6091/\$1,000 taxable value
- Miami-Dade County Fire Debt Service: \$0.052/\$1,000 of taxable value
- Miami-Dade Library: \$0.486/\$1,000 taxable value
- Children's Trust: \$0.4288/\$1,000 of taxable value
- Miami-Dade Public Schools: \$7.947/\$1,000 of taxable value
- Miami-Dade Public Schools Debt Service: \$0.491/\$1,000 of taxable value
- South Florida Water Management District: \$0.5970/\$1,000 of taxable value
- Environmental Project: \$0.100/\$1,000 of taxable value

Ad valorem taxes will be paid on all of the real property that comprises the Parkland DRI as well as on the personal property contained within its commercial facilities. The figures shown in **Tables 11.1** and **11.2** include only the amounts paid on real property because there is no basis for estimating within any precision that value of the taxable personal property.

Water and Sewer Charges

Miami-Dade County will provide water and sewer service to the Parkland DRI. The amounts charged for those services will based on a number of variables that are not known at this time including the rates of consumption by project component and the number and size of the meters installed. It is, therefore, not possible to estimate these charges at this time.

<u>Utility Taxes, Franchise Fees and Unified Communications Tax</u>

Utility taxes, franchise fees inclusive of the Unified Communications Tax are collected from the providers of water, electric, telephone, cable and gas services within Unincorporated Miami-Dade based on their revenues. The amounts collected as a result

of the development of the Parkland will be dependent on the actual usage of the various services enumerated above, which can not be estimated at this time.

Occupational License Fees

Businesses operating within Unincorporated Miami-Dade County are required to obtain occupational licenses from the County. The rates paid vary depending on the type and size of the business enterprise. Since the number, size and type of the businesses that will occupy the non-residential uses that will be developed as part of the Parkland DRI are not currently known, the occupational license fees that will be generated cannot be estimated at this time within any specificity.

Sales Tax

The State of Florida imposes a 6 percent sales tax on certain transactions including retail sales of non-exempt goods, food and beverage sales in eating and drinking establishments and rent payments. Portions of these amounts are rebated to the county in which the revenues are collected. The rebates to Miami-Dade County are then partially distributed to the municipalities within the county. Insufficient data relating to items such as sales volumes and rental rates is available at this time to calculate these amounts. For the same reason, it is not possible to calculate the amounts of sales tax that will be collected for the Miami-Dade County's Health Trust and its transit system under local option sales tax programs.

Gasoline Tax

Each gallon of gasoline sold and used by people to travel to and from the Parkland DRI is taxed at the State level. The State levies a tax of \$0.172 per gallon. From this amount, \$0.03 is distributed to County governments and \$0.01 to municipalities. Given that fuel consumption and commutation distances can vary greatly depending on vehicle and where people work, no attempt has been made to project the gasoline consumption that would be attributable to the Parkland DRI or the resultant revenues.